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AP Calculus AB Chapter 0 Review Problems 

1. Write the function as a piecewise function:  

a. 𝑓(𝑥)�=�|2𝑥�+�1|� b. 𝑓(𝑥)�=�|𝑥3�+�3𝑥2�−�10𝑥|�

2. Find the domain of the function  

3𝑥�
a.  𝑓(𝑥)�=�√𝑥2�−�16� b. 𝑓(𝑥)�=�√−3𝑥�+�5� c.  

cos(𝑥)�

3. Find the value of each of the following: 

7𝜋� 2𝜋� −4𝜋�
a. cos ൬�൰� b. tan ൬�൰� c. sin(π)�⬚� d. cos ൬� ൰�

6 3� 3�

4. Sketch a graph of the following piecewise function: 

3� ⁡⁡⁡⁡𝑖𝑓⁡⁡⁡⁡𝑥�≤�−2�
1�
𝑥2�+�1�⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡𝑖𝑓⁡⁡⁡�−�2�<�𝑥�<�2𝑓(𝑥)�=�2�
1�
𝑥�−�1� 𝑖𝑓⁡⁡⁡⁡𝑥�≥�2{�2�

5. Given 𝑓(𝑥)�=�−𝑥�+�5� and   𝑔(𝑥)�=�𝑥2�+�3�

a.  Find  𝑔(𝑓(𝑥))� b. Find 𝑓(𝑔(2))�

−𝑥2�+�4𝑥�
6. Use a sign pattern to determine intervals where the function is positive and 𝑓(𝑥)�=�

𝑥2�−�2𝑥�−�3intervals where the function is negative. 

7. Solve for y in terms of x   (get y by itself) 

6𝑦�+�3𝑥�−�5𝑥2�=�7𝑥𝑦�−�2𝑦�

8. Sketch a graph of each function: 

a.  𝑓(𝑥)�=�𝑒𝑥−3�+�2� b. 𝑓(𝑥)�=�ln⁡(𝑥�+�4)� c.  𝑓(𝑥)�= −√𝑥 + 1 − 3�

9. Solve of x on the interval [0, 2𝜋)� 2 sin2 𝑥 + 3sin�𝑥 + 1 = ⁡0�
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Practice: 

1. Write the function as a piecewise function:  𝑓(𝑥)�=�|2𝑥2�−�7𝑥�−�15|�

2. Find the domain of the function  𝑓(𝑥)�=�ln⁡(−𝑥2�+�5𝑥)�

3. Find the value of each of the following: 

7𝜋� 𝜋�
a. cos�൬�൰� b. tan�ቀ�ቁ�

4� 2�
c. 

−7𝜋�
cos�൬� ൰�

6�
d. 

4𝜋�
sin�൬�൰�

3�

4. Sketch a graph of the following piecewise function: 

2𝑥�+�3� ⁡⁡⁡⁡𝑖𝑓⁡⁡⁡⁡𝑥�≤�−2�

√𝑥�+�2� ⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡𝑖𝑓⁡⁡⁡�−�2�<�𝑥�<�2𝑓(𝑥)�=�
1�
(𝑥�−�4)2� 𝑖𝑓⁡⁡⁡⁡𝑥�≥�2{2�

5. Given 𝑓(𝑥)�=�√3𝑥� and   𝑔(𝑥) =�𝑥2 + 8𝑥 + 3�

a.  Find  𝑔(𝑓(𝑥))� b. Find 𝑓(𝑔(1))�

6. Use a sign pattern to determine intervals where the function is positive and −𝑥3�+�𝑥2�+�20𝑥�
intervals where the function is negative. 𝑓(𝑥)�=�

𝑥�−�2�

7. Solve for y in terms of x   (get y by itself) 3𝑥�+�5𝑥𝑦�−⁡𝑥2�=�8𝑦�+�10𝑥𝑦�

8. Sketch a graph of each function: 

a.  𝑓(𝑥)�=�|−𝑥2�+�2|� b. 𝑓(𝑥)�=�−2|𝑥�+�3|�+�5�

9. Solve of x on the interval [0, 2𝜋)� 2 sin2 𝑥 − 1 = ⁡0�


